PvCzH(1 7 H & #4) (FH &)
S | Il | S|
= 3 = cho| c ot 2+ 200mm 24 250mm 2+ 300mm =
= =% = = = A
23 (F=x) ol | 205,381 0.12| 24,645.7| 0.17 34,914.7/ 0.21  43,130.0
HEoR ol | 141,096/ 0.06 8,465.7| 0.09 12,698.6 0.11 15,520.5
[ & 1] 33,111 47,613 58,650
(g Al 33,111 47,613 58,650
A (1) 2 E2PV.CHUOIZE PV.CE Z8he| 1RE M2 J|&=5H A | =
(2 2 22 258 2 Mol =otE oo, EIby|, =i 7|, HEXNZ|, EF7| &P Mel=of fdct.
Q) HHME(1RY &)= Ex Asct
5. P.E&t
5-1 LiAbZglAl ol 2 Het ¥ #4
P.EBHLIALERIAl O 22 BBt 2 24) Oh=2)
Il | S | Il | S|
o = 3 cleo| e o} 224 15mm 2+ 20mm 24 25mm 2+ 32mm
= =N =¥ 9 = A T FA
23 (+=x) ol | 205,381 0.06] 12,322.8/ 0.06 12,322.8/ 0.09 18,484.2| 0.1 20,538.1
HEoR ol | 141,096/ 0.01 1,410.9| 0.02 2,821.9| 0.02 2,821.9/ 0.03 4,232.8
[ £ H]] 13,733 15,144 21,306 24,770
[g Al 13,733 15,144 21,306 24,770
PEZH(LIAI=A ol & Mt 2 B4A) (FH 2~ Eh
a4 pA
b = 3 = cto| c ot 24 40mm 2+ 50mm b o
- = A = o
2 (T ol | 205,381 0.11 22,591.9 0.14 28,753.3
HEols ol | 141,096/ 0.03 4,232.8| 0.03 4,232.8
[ & 1] 26,824 32,986
(g Al 26,824 32,986
A (1) 2 2 P.ERe L= MEs 7IFS Holct
(2) & 22 274 3 goto| =aE ZHolo{, Hupy|, = <7|, & M2, SF7| P2 M el=o] Act
5-2 W Het ¥ £
PEZ(HE M3t 3 o) (FHAEh
b = 3 cho| ot 7} 24 50mm 2Z 75mm 2+ 100mm ZZ 150mm
= A S = - = S =
S7LE U AR A ES 3% A 1 438.8 1 585.0 1 835.2 1 1,127.8
[z & H]] 438 585 835 1,127
23 (+x) el | 205,381 0.06) 12,322.8/ 0.08 16,430.4 0.11 22,591.9 0.15 30,807.1
H2Eels ol | 141,096 .03 4,232,8| 0.04 5,643.8| 0.06 8,465.7| 0.08 11,287.6
[= 2 u]] 16,555 22,074 31,057 42,094
(gt Al 16,993 22,659 31,892 43,221

Mt LIEZHPVCSIEt 4|
HIVG1, HIVG2
HIVGISR, HIVG2SR




346 EF/2EM 3 HE SAL
PEZHHE M of R4) (h2g)
o = = chel c 7} Aa‘??ﬁ ZOEmZH A;'.f@ 25:OLmZH A;fé SOEmZH =
TS =kl TS [=N! T o =l
STEE U AME 2AHES 3% A 1 1,420.3 1 1,712.9 1 1,901.5
(A 2 H]] 1,420 1,712 1,901
23 (+x) el | 205,381 0.19 39,022.3] 0.23 47,237.6 0.26 53,399.0
HEels el | 141,096 0.1 14,109.6/ 0.12 16,931.5 0.13 18,342.4
[= Fd]] 53,131 64,169 71,741
(g Al 54,551 65,881 73,642
A (1) 2 2 P.EEH6mM)S WE(Z=UA) dete 7I&8 Holct
(2) 2 22 &FM 2 o] Z&E Holof, |, =07, ZEM2|, 2F7| &2 Mel=of At
3)37EE ¥ HMEE A ES 3%z H Attt
(4) HER R (ZAME)E W Habsict
5-3 M7|8% g % 84
PERHMYISA M o R4) CESS)
Hl % H‘ 7_1' 'a"?'l :I. 7" /\:I::F?Di 15§m2l{ Aa?g 202”‘2” Aﬂ?é 25§m:l{ Aa?g 30:01m2H
TS [=] TS 0 TS [=] TS 0
BPeR 2 @Wule TR QI EO| 7% A 1 3,476.6 1 4,006.7 1 4,635.6 1 5,021.8
[ & H|] 3,476 4,006 4,635 5,021
23 (=x) °l | 205,381 0.18 36,968.5| 0.21 43,130.0 0.24 49,291.4 0.26 53,399.0
288 el | 141,096 0.09 12,698.6/ 0.1 14,109.6 0.12 16,931.5 0.13 18,342.4
[= 2] 49,667 57,239 66,222 71,741
(g Al 53,143 61,245 70,857 76,762
PEZHH7|S= He & £4) C{EL=y
b = S cleo| c o} A;pré 35:0LrngH Aaj'.t;"%d 40§mzu Aa?é 45:0ngH A;'.t;"%d 50:0[m2H
TS = T o = T o = TS | [=l!
Bres ¥ Fnuiel A | Q1 E 2| 7% 4 1 5,794.5 1 6,324.5 1 6,953.4 1 7,726.0
A 2 H[] 5,794 6,324 6,953 7,726
23 (F=x) ol | 205,381 0.3 61,614.3 0.33 67,775.7 0.36 73,937.1 0.4 82,152.4
288 °l | 141,096 0.15 21,164.4| 0.16 22,5753 0.18 25,397.2] 0.2 28,219.2
[ £ H]] 82,778 90,351 99,334 110,371
(g Al 88,572 96,675 106,287 118,097
PEHTY|SE et & F4) (e EN=))
= 3 cro| c 7t . 2+4 600mm A 700mm 2+ 800mm Z+ZA 900mm
=i 29 =i Z o =i 9 = Z 9
EER|HE Tl 58 hr 6,542 0.33 2,158.8| 0.44 2,878.4| 0.54 3,532.6/ 0.62 4,056.0
BreE W FEuiel e | Q12 E ol 7% A 1 5,165.6 1 5,938.2 1 6,710.8 1 7,483.4
[ = H]] 7,324 8,816 10,243 11,539
ol 23 (F=x) ol | 205,381 0.27| 55,452.8/ 0.31 63,668.1 0.35 71,883.3 0.39 80,098.5
2528 ol | 141,096/ 0.13| 18,342.4| 0.15 21,164.4| 0.17 23,986.3 0.19 26,808.2
EZER|E I 55 hr 36,224 0.33| 11,953.9/ 0.44 15,938.5 0.54 19,560.9/ 0.62 22,458.8
[ £ H[] 85,749 100,771 115,430 129,365
EZERfE Il 55 hr 9,469 0.33 3,124.7| 0.44 4,166.3] 0.54 5,113.2 0.62 5,870.7
[& H]] 3,124 4,166 5,113 5,870
[gF Al 96,197 113,753 130,786 146,774




